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= 33,000
ALY =& 2,031,135 1,878,795 152,340
= 1,688,498
& 60,733
= 281,904
X&22 A F=E(24]) 1,755,175 1,548,578 206,597
= 1,579,731
< 52,576
[Ea 122,868
307 212+01& 1,755,175 1,548,578 206,597
= 1,579,731
=S 52,576
s 122,868
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1,755,175,000& 1,755,175
= 1,579,731
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s 122,868
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O 22 A Y X3 (FAAHE)
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307 el2tol & 40,000 40,000
11 AMEISXAIEEXS 40,000 40,000
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= 8,157
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O s¥INSSE( 1) 1,933,000 1,933
= 1,546
= 116
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O sl¥II8SE(1) 4,986,000& 4,986
= 3,989
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= 698
O ugrI=s% 1,235,000 1,235
= 988
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= 21,4%
=S 41,590
s 159,350
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= 245,020
= 35,003
Ea 70,004
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=S 2,916
s 6,804
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9,720,000& 9.720
< 2,916
= 6,804
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[ 3,071
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s 21,495
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s 18,068
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= 18,068
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o 12,653
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o 12,653
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O 2ZLHY9 TOHACIA S MEXAHl X
63,263,000& 63,263
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2,957
6,900

A H

308 AXIHMSO0IA 32,857 0 32,857
23,000
2,957
6,900

HH W

11 S 2SS & AE AL 32,857 0 32,857
O ZoHel sk Jr30 (GE)

32,857,000&*1H 32,857
23,000
2,957
6,900

HH W

ZoHelg=sXd & FIAE (<HI) 58,340 71,000 12,660
11,668
46,672

A

308 XXM SOIA 58,340 0 58,340
11,668
46,672

M

11 S| 2SS XA AIE 58,340 0 58,340

58,340,000& 1= 58,340
11,668
46,672

Mo

ZOHOISIIEX R (L ME MBI A) (=HI) 86,400 77,760 8,640
60,480
7,776
18,144

HoH W

308 AHXIHMSO0IA 86,400 0 86,400
60,480
7,776
18,144

MW

11 S 2S0UeE4EAS AL S| 86,400 0 86,400
ul

86,400,000& 1= 86,400
60,480
7,776
18,144

MW

ZoHe!l BAD10] X2 (=4l) 5,338 3,871 1,467
4,270
1,068

H A

301 2 &= 5,338 3,871 1,467
4,270
1,068

ST Y

01 Al EEATZ(2REZME) 5,338 3,871 1,467
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O ZoH 222171 X 5,338,000& 5,338
= 4,270
= 1,068
ZOHRIEFXMI I 120,500 120,500
307 @20l & 120,500 120,500
03 YIZAHHEE 22X 57,000 57,000
O UM 2| 57,000
- NI gsl 22|
15,000,000 15,000
- S0lgs 2g| 7,000,000& 7,000
- AHH I =X2 2SI
7,000,000 7,000
- UHeSH=Edod 23]
7,000,000 7,000
- WEYMHIER 24| 7,000,000& 7,000
- A0SRl 2SI
7,000,000 7,000
- H=Z0Ea 23| 7,000,000 7,000
04 QIZHHAIAIH E X 24,500 0 24,500
O &g ZoHelel g J1gal &0t
3,000,000& 3,000
O &g ZoHel etits =M &t
3,000,000& 3,000
O &g ZoHe! JIs&JIUa ot
2,000,000& 2,000
O &= XNHNZOHICHR &It
1,000,000 1,000
O &g Atgel & dZhc| AL Zot
3,000,000 3,000
=P,
4,000,000 4,000
0123
2,000,000& 2,000
5,000,000& 5,000
dg SXEolel & Ji
1,500,000& 1,500
| 39,000
18,000,000 18,000
O Zofe! Jizuns0E30)
11,000,000 11,000
O S0t THESEUE 2,000,000& 2,000
O =O0teltha gt £0
2,000,000& 2,000
O O E0He AL Z2 1 29
6,000,000& 6,000
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A FRISXID
B Fo|E =NEX L A
=2l Hofe! SXX#A (SH &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
ZOHC! JHOI2HAIE XA (=HI) 549,280 286,914 262,366
& 11,725
= 437,555
307 212+01™ 549,280 286,914 262,366
& 11,725
[ 437,555
10 Al S XA EEHE2IHIE X 530,260 286,914 243,346
O Zofe! JHel2d HFAIE 2gH| X2 (et
LAUCE) 530,260,000& 530,260
T 106,052
= 424,208
11 AR SXAMEER 19,020 0 19,020
O ZOHC HFAIE SAR S8
18,360,000 18,360
& 5,508
= 12,852
O ZoHel H=AlE HERAH|
660,000& 660
T 165
= 495
S0 ESHHEH XA (SHI) 174,840 127,304 47,536
& 34,968
= 139,872
307 212+01™ 174,840 127,304 47,536
& 34,968
i 139,872
10 Al S XA EEHE2IHIE X 174,840 0 174,840
O =0SgHH 22 174,840,000& 174,840
T 34,968
= 139,872
ol 0w 29(%Hl) 5,000 5,000 0
= 1,500
= 3,500
307 212+01 A 5,000 5,000 0
& 1,500
= 3,500
11 Al =SXAMEES 5,000 5,000 0
O e =0na 24 5,000,000& 5,000
& 1,500
[ 3,500
AMZLEOHQ! MEQISKIAME 23 (%Hl) 173,920 87,235 86,685
= 34,784
= 139,136




2A:

E M

X

>

=

i ¥
A
Ral
o
>
0

0 B {4
21918
=

0 oy
o
10
o
({0

ol

iI

A - EHE . (B - HIRAY - B2 Ofl AroH Oﬁ]gﬁ HDE2

307 212t01™ 173,920 87,235 86,685
34,784
139,136
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10 MEISXAIEHE2EHIEX 173,920 0 173,920
O AZtEHe! eSS 29

173,920,000 173,920
34,784
139,136

A0

M

ZOHQIEHOJAlE XIRNMH 22 (ZHl) 51,280 54,471 A3, 191
10,256
41,024

A H

307 212t01™ 51,280 54,471 23,191
10,256
41,024

M H

11 AR S XA E X 51,280 54,471 A3,191

O FuEASTI = A2AHE 23

{

51,280,000& 51,280
10,256
41,024

EUNGE

Z0HQ! OIZAIE SALK S82E(ZHI) 9,720 7,560 2,160
2,916
6,804

M H

307 212t01™ 9,720 7,560 2,160
2,916
6,804

A H

11 AR S XA 2 X 9,720 7,560 2,160
O Z0H OISAIE SAHL SE8+E

9,720,000 9,720
2,916
6,804

UMY

ZOHQ! =AESAIE 2L (=Hl) 166,709 121,125 45,584
25,006
141,703

M

307 212t01™ 166,709 121,125 45,584
25,006
141,703

A H

10 MEISXAIEHE2IEHIEX 166,709 121,125 45,584
O HHR F=2UESAE 2L

166,709,000& 166,709
25,006
141,703

UMY

LI F2UESMUIAXIR(Z2HI) 328,932 0 328,932
230,252
29,604
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328,932
230,252
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328,932

328,932,000& 14

Mo W

328,932
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230,252
29,604
69,076

328,932

LN LUFESMHIAXIA(ZH])

Mo W

96,207
67,345

8,659
20,203

96,207

0

308 AkXI &

>

JIS0IH

[

HoH W

96,207
67,345

8,659
20,203

96,207

S SIS SDEEE AL

EN
& 96,207,000& x14

HH W

96,207

96,207
67,345

8,659
20,203

96,207

HH W

3,769
2,637
340
R

1,757

2,012

308 XtXIEMSO0IH

HoH W

3,769
2,637
340
R

3,769

(=] =/
O LT RRA2/MERE HE

3,769,000 14

Mo W

3,769

3,769
2,637
340
R

3,769

A H

7,000
2,100
4,900

9,000

22,000

307 212t01™

in

7,000
2,100

9,000

A2,000




SA F2US
B Fo|E =NEX L A
Rl ZoHe! SXAIA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 4,900
11 AMEISXAEEXS 7,000 9,000 22,000
O Zeoiel ASBHZIZ2 IS (NEZDY)
A 7,000,000& 7,000
== 2,100
[Ea 4,900
LE O AS0LAS 13,200 0 13,200
= 3,960
= 9,240
301 EtE N = 13,200 0 13,200
= 3,960
Ea 9,240
02 AR 2HHLFS(HAAS, XNLHE) 13,200 0 13,200
O 220 &S0 A
13,200,000 1 13,200
== 3,960
o 9,240
Z0Hel 2 A=Y 2 (&Hl) 40,000 40,000 0
= 12,000
= 28,000
307 elzto| & 40,000 40,000 0
= 12,000
Ea 28,000
1 AMEISXAIEEXS 40,000 40,000 0
O Hofel sz X7 g
40,000,000 40,000
s 12,000
s 28,000
HHOJAIE AE) H==ZAHEHI) 20,472 0 20,472
== 6,141
= 14,331
307 elztol & 20,472 0 20,472
= 6,141
[Ea 14,331
05 2I2tRIE =S 20,472 0 20,472
O BoAE A} A
20,472,000 20,472
=S 6.141
s 14,331
Z0Hel N=E2 SHOIHA AXI(<H) 1,500 1,680 A180
S 375
= 1,125
301 EtE NS 1,500 1,680 A180
= 375
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ZE: FHONS =2XST Y N
Rl ZoHe! SXAIA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2 1,125
02 MEIZEEAHB(FHAAES, NLHE) 1,500 0 1,500
O HOHUD=EZ SHolHA &XI(EH)
1,500,002 11 1,500
= 375
2 1,125
ESTOOIR SEEEMHIA 118,000 118,000 0
301 LeterEa 100,000 100,000 0
02 AIBI R 253 (FHAAE, L) 00,000 0 00,000
O MAS EZZ0HR FIHECINR
5,000, 00025202 00,000
307 BI240| M 18,000 18,000
11 MEISTIAG BT 18,000 18,000
O AIFOHO! b8 Lf BDE 22l X
18,000, 0002 18,000
R 7,320 7,320 0
201 2By 7,320 7,320
01 A2l 6,320 6,320
O MRS (F2XZ % 01ANF) FA
g 70,00021542 43| 1,120
O BONQARSA FXHEX M
2,200,0002! 2,200
O AL LRHD oY X FIZ
3,000, 0002 3,000
2 B2 1,000 1,000 0
O ZZR3 ¥ MH(REDY 5)
1,000, 0002 1,000
YOS Y2 1,000 0 1,000
201 Ler | 1,000 0 1,000
e 222 1,000 0 1,000
O BUASES 28 Hhza
1,000,002 1,000
DRLHISE SAIXE 0 3,024 0 3,024
2 2,117
=S 272
2 635
308 XXISHH SOl 3,024 0 3,024
2 2,117
= 272
2 635
11 20 BSOS Z AR FISAIH] 3,024 0 3,04
O B2LH9 EB BAINE
3,024, 00021 3,024
2 2,117
= 272




SA F2US
B Fo|E =NEX L A
Rl ZoHe! SXAIA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| | = 635
ol LXtel M3 884,056 884,056 0
= 452,497
= 129,468
Ea 302,091
O (HLA ) LRl K& (=) 493,126 493,126 0
= 246,563
= 73,969
= 172,594
101 @124H| 487,126 487,126 0
= 243,563
< 73,089
= 170,4%4
M ORIMZZ2NSE S 487,126 487,126 0
O ZOoHN (ML) LRl R QIAHI(ZH)
487,126,000& 487,126
= 243,563
[ 73,089
T 170,494
201 er23 | 6,000 6,000 0
= 3,000
& 900
Ea 2,100
01 At2t2ltl 6,000 6,000 0
O DS2Y, AR8E 2 S
6,000,000& 6,000
= 3,000
S 900
[Ea 2,100
o (SXE)LXtel XS (=2H]) 231,832 231,832 0
= 115,916
== 34,775
[Ea 81,141
307 212+01& 231,832 231,832 0
= 115,916
=S 34,775
s 81,141
11 AMISXAIEEX 231,832 231,832 0
O ZoHH(=XE)LRtel A
231,832,000 *1 231,832
= 115,916
= 34,775
o 81,141
ZOHQI(AIZEAI) 2 At2I XI& (=H]) 124,200 124,200 0
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B FoE 2NN L A
el ZoHe! Xl MBS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 62,100
=S 18,630
s 43,470
101 21AH| 118,200 118,200 0
= 59,100
= 17,730
Ea 41,370
04 JIZtN2 2N S 2+ 118,200 118,200 0
O HOH(AIZEM)EXtel XIA(HY)
118,200,000 1 118,200
= 59,100
= 17,730
Ea 41,370
201 fer=2 3| 6,000 6,000 0
= 3,000
= 900
[Ea 2,100
01 AtR2telHl 6,000 6,000 0
O AMEEE Y S 6,000,000& 6,000
= 3,000
= 900
= 2,100
ZOHRI (AT ZOH I HOFALIFA ) 2 Xt2] K1 (=H]) 34,898 34,898 0
= 27,918
= 2,004
= 4,886
307 elztol & 34,898 34,898 0
= 27,918
[ 2,094
Ea 4,886
11 AMEISXAEEES 34,898 34,898 0
O ZOHQI(AIZtEOHQIQOrAIFA ) L K} 2!
rals] 34,898,000 34,898
= 27,918
< 2,004
[Ea 4,886
A& S A2l 231,190 228,526 2,664
= 33,858
== 12,340
[Ea 184,992
K2SA 2CIUIO0IE XA - S4(=HI) 64,936 62,040 2,8%
= 32,468
s 32,468
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ol X SA2e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
101 @124H| 64,936 62,040 2,8%
= 32,468
= 32,468
03 BRH(RIH )22 U2+ 46,972 54,116 AT,144
O AHESAIZLUIOIE 21|
46,972,000&x1& 46,972
= 23,486
s 23,486
M ORNZZ2NSE S 17,964 7,924 10,040
O THESAIZCIUI0IE 2r2Ad|
17,964,000 17,964
= 8,982
= 8,982
AHASALZLIUIOIE Q12AH| 23,568 23,568 0
101 @12A4H| 23,568 23,568 0
04 JIZtN22 XS 2+ 23,568 0 23,568
O XAESAZCIUIOIE 1A
23,568,000& 23,568
=2 S8 ANFSAMEE It MHIA XI&(=2H) 2,780 3,012 N232
= 1,390
= 1,390
201 er23| 2,780 3,012 N232
= 1,390
= 1,390
2 s5=34l 2,780 3,012 N232
O NHESANEE =X 2,780,000& 2,780
= 1,390
[Ea 1,390
AHsSmes2E X (=) 18,460 18,460 0
== 5,540
[Ea 12,920
201 =3 11,330 11,330 0
< 3,400
s 7,930
01 At2tltl 8,330 8,330 0
O X0t MHESAtLE 28 S
8,330,000& 8,330
= 2,500
Ea 5,830
03 &A= 3,000 3,000 0
O XGeAL & =M #0 HESAte 23
3,000,000& 3,000
< 900
T 2,100
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M ZEol=x s
BH: FoE =SXNEH U N
ol X SA2e EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
O FgdAZUsSAL g3 X
30,000,000& 30,000
JIZZECWT 2H9H| X2 (&HI) 35,000 35,000 0
T 6,800
[ 28,200
307 2I2+01™ 35,000 35,000 0
& 6,800
= 28,200
02 QB AAIEER 35,000 35,000 0
O ZEcYr 294| X 35,000,000 35,000
= 6,800
= 28,200
HASE A= 35,000 85,000 250,000
@ HASFRUAZ 25,000 25,000 0
201 B2 AY| 1,000 1,000 0
01 At=R2teld| 1,000 1,000 0
O 9&E/E AEA MEH 1,000,000& 1,000
301 LB F 24,000 24,000 0
02 MBI 2EHH S (HUAHS, NSTHA) 24,000 0 24,000
O YEMHASFO /= 24,000,000 24,000
MNII=XAIE /2 10,000 10,000 0
301 LPENZ 10,000 10,000 0
2 A BEHHZ(HAANS, NYTHA) 10,000 0 10,000
O MIEXAE =82X <
10,000,000& 10,000
SeAtsl=X2 24 576,240 476,240 100,000
T 3,672
[ 572,568
SeAte=X22G & 564,000 464,000 100,000
307 2I2+01™ 564,000 464,000 100,000
10 Al = XA EHE2FHIE X 534,000 434,000 100,000
O EEAsI=X= 22| 534,000
- AR O124H| 500,000,000& 500,000
- =X& 23| 34,000,000& 34,000
11 AL =SXAMSEES 30,000 30,000 0
O ol 29 10,000,000& 10,000
ZAILOl Al HHE AL
20,000,000& 20,000
SEASIEX2 2ERA (=) 12,240 12,240 0
& 3,672
= 8,568
307 212+01 ™ 12,240 12,240 0
& 3,672
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Chel: SEARIEXZ 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 8,568
10 Al SXAZEE 22X 12,240 12,240 0
O ZSABISNZ X SE4e N
12,240,000 12,240
== 3,672
[Ea 8,568
A=Al 28t Ay 29 1,840,384 1,59%,790 243,594
= 875,011
Il 34,000
= 150,232
Ea 781,141
XA MIMHIA SXAMS(E/2S) 811,088 691,978 119,110
[ 648,870
= 48,665
= 113,553
201 Ler23| 500 500 0
= 350
[ 45
T 105
01 AFR2telHl 500 500 0
O NSABIHHIASTAIY 22|
500,000 500
= 350
< 45
[Ea 105
202 04l 1,000 1,000 0
fas 700
< 0
[Ea 210
01 =LHO LI 1,000 1,000 0
O XSGMBIMHIAERIALY & el 0]
1,000,000 14 1,000
fas 700
== 0
o 210
307 elztol & 809,588 690,478 119,110
= 647,820
== 48,530
o 113,238
05 2IR”tRIE = 809,588 690,478 119,110
O XA MBIAS AL
809,588,000 809,588
s 647,820
s 48,530
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SA F2US
B Fo|E =NEX L A
Rl AlRISA 2 dEE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[FABI2HE AN MR 2SXJ(Z]) 39,449 39,449 0
= 7,890
= 31,559
307 el2to| & 39,449 39,449 0
= 7,890
[Ea 31,559
1 AMISXAIEEXS 39,449 39,449 0
O ZEZNSAZEEEAM 2S (212
2 29Hl) 39,449,000& 39,449
== 7,890
[Ea 31,559
KAt 2 AM2S X2 57,400 80,400 123,000
201 er23 | 30,000 30,000 0
01 At2teltl 30,000 30,000 0
O S8 XNYA=I2ZEM 22
20,000,000& 20,000
O HE(USEAM)?E 3o
10,000,000& 10,000
301 22N = 2,400 2,400
11 AALEEIXIE S 2,400 2,400
O BIRtol sAEA S|
8,000& 200 1,600
O Qztol AR O] 800,000 800
307 gl2to| & 25,000 15,000 10,000
1 AMEISXAIEEXS 25,000 15,000 10,000
O dgxg SN2 U PR, =25y
uf 8,000,000& 8,000
O ARSI & &AL =X
7,000,000 7,000
O NSARI2ZE8AM Sgdst s
10,000,000 10,000
SEAZCIAE (2E) 15,000 15,000 0
[ 7,500
= 2,250
[Ea 5,250
201 er23| 3,000 2,000 1,000
[ 1,500
= 450
= 1,050
01 At2teltl 3,000 2,000 1,000
O SeAtd2elAg =M=
3,000,000& 3,000
= 1,500
< 450
s 1,050
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SA F2US
B Fo|E =NEX L A
Rl AlRISA 2 dEE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 12,000 11,500 500
= 6,000
== 1,800
[Ea 4,200
01 Al 2E AL S(SRNEXME) 12,000 11,500 500
O SEAMAIZ2ITHAR XA
12,000,000 12,000
= 6,000
== 1,800
o 4,200
SEAtEIZ2IAL A HHI(=H]) 101,628 133,248 A31,620
s 50,814
== 5,081
o 45,733
101 e/24d| 101,628 133,248 A31,620
= 50,814
= 5,081
o 45,733
03 SRA(RIH )22+ 101,628 133,248 A31,620
O SEAtdIZ2IAL 12|
101,628,000 101,628
[ 50,814
= 5,081
o 45,733
SEAHHI 22l AL 12| 27,000 24,000 3,000
101 ©1AH| 19,800 24,000 A4,200
03 SR (RIH )22 U2+ 19,800 24,000 24,200
O SSAtdIZ2IAL =& 19,800
- =H RE2 S A=
3,300,000& «2H+3& 19,800
202 04dl 7,200 7,200
01 =LHOHI 7,200 7,200
O SeAtdIZelAr 18] 7,200,000& 7,200
SHE XEE SEAMHIA X (Z/2S) 98,653 84,000 14,653
[ 69,057
= 2,960
Ea 26,636
201 er=23y| 58,653 42,000 16,653
[ 41,057
= 1,760
= 15,836
01 At2teltl 58,653 42,000 16,653
O =Hs AEE SAHIL 23|
58,653,000 58,653
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Rl AlRISA 2 dEE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 41,057
=S 1,760
s 15,836
301 22N = 40,000 42,000 A2,000
= 28,000
= 1,200
o 10,800
02 ANRI2HHSFS(HAAS, NLHE) 40,000 0 40,000
O SHs A58 SEAtlA X2
40,000,000 40,000
= 28,000
= 1,200
o 10,800
felsdl SXDISH (<) 242,000 85,000 157,000
< 72,600
Ea 169,400
301 LEIE NS 242,000 85,000 157,000
= 72,600
= 169,400
02 A2 XSG (FHAAHS, W) 242,000 0 242,000
O Rcsdl SDISH 24
242,000,000 242,000
= 72,600
o 169,400
felsul SXISH S ISAE 34,000 0 34,000
Jl 34,000
301 EtE N = 34,000 0 34,000
) 34,000
01 AR 2EHSFS(RNEXRTHE) 34,000 0 34,000
O Rcsdl SAIISH =2 IsSAt
34,000,000& 34,000
Jl 34,000
SXAHIA HEHA HBEHE2 =& 18,700 16,700 2,000
201 2egh=3| 12,500 12,100 400
01 At22t2lt] 12,500 12,100 400
O SgAtezel Felaga 2E0(119HA)
12,500,000 12,500
202 04t 1,200 1,600 2400
01 =LHNHI 1,200 1,600 A400
O SEAdZelo OHE SAME S2AHY
FAo 1,200,000& 1,200
401 AIEHIZ SR OHYI 5,000 3,000 2,000
01 Al&HI 5,000 3,000 2,000
O CRIR=8 224l 5,000,000 5,000
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B Fo|E =NEX L A
Rl ARSI 2 dY 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HOoPt= SXABIA X 2] X2 30,000 30,000
201 er23 | 30,000 30,000
2 35234l 30,000 30,000
O sY XEESEN AR 30,000
- XtEs Al 2,000,000& * 102 E 20,000
- 282 & MHAS 1,000,000& 10 10,000
AZIETAL BEO R Ex1SH| X2 (&) 8,960 8,960 0
< 2,688
s 6,272
307 lztol & 8,960 8,960 0
= 2,688
= 6,272
11 AMEISXAIEEXS 8,960 8,960 0
O A2ISAIA HE2IR E+uSH| X3
8,960,000 8,960
=S 2,688
s 6,272
ABISXIAIE SALAH AHEE R X3 (<HI) 1,380 950 430
== 690
= 690
201 er2 3| 1,380 950 430
= 690
= 690
2 s5=34l 1,380 950 430
O ARASKIAIE SALL doi28s
10,0002 » 138 1,380
= 690
o 690
MEISXAE 72l 16,000 15,000 1,000
401 AIEHIZ SR 0HYI 16,000 15,000 1,000
01 Al&HI 16,000 15,000 1,000
O ABIEXIAE RXES
16,000,000 16,000
A2 SKIAIZ =2 10,500 10,500
203 AHR=H] 7,500 7,500
03 A=A H =AY 7,500 7,500
O AIHFAH S| 7,500,000 7,500
301 EtE NS 3,000 3,000 0
02 ARI2HHSFS(HAAS, XNLHE) 3,000 0 3,000
O 22HE EEXA S 2d=
3,000,000 3,000
ARISXIAIE SAHA SZ0EES X2 5,000 0 5,000
301 EtE NS 5,000 0 5,000
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M Z=ol=x s
M HAPAZH|(FU=RD)
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 10,000 14,000 24,000
01 2LHoIH 10,000 14,000 24,000
O SXNS0 WAt A 0]
10,000,000 10,000
Jl=2ZHl/sgsN 15,000 18,000 23,000
201 ger=3| 10,000 10,000 0
01 AtR2te|H] 8,000 8,000 0
O ggt=ZH| 3,000,000& 3,000
O =gl 5,000,000 *4 % x25% 5,000
2 35244l 2,000 2,000 0
O 38k € =& S 1,000,000& 1,000
O 38k € &8 S 1,000,000& 1,000
202 04| 5,000 8,000 A3,000
01 2L AL 5,000 8,000 A3,000
HEFE O] 5,000,000& 5,000
HWRes(F=X) 711,670 862,455 150,785
WA XIE 711,670 862,455 A150,785
WA XIE 711,670 862,455 150,785
701 JIEtRI NS EHES 711,670 862,455 150,785
01 JIEt=I AN ES 711,670 862,455 150,785
O A=30SEIH dE=S
711,670,000& 1 711,670
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